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S1 Summer Exercise — Simple Equation —TX8( 712
Removing brackets &5

Consider the equation |3 x+1)=2x—-7

Remove the bracket:

3+ 1)=2x—7 AN

Ir+3=2r—7 et
3x—2x=-7-3
x=-10

The solution of the equation |3 (x+1) =2x —7 is-10.

Eliminating Denominators )25 =F:

For equations with denominators, we may multiply both sides of an equation by the same value to

eliminate the denominators.

Consider the equation =]

l+£:7
3 4

The L.C.M. of 3 and

‘7 ‘7
4+ Y= 2
[3+4)X]‘ R 4is 12.

Y1242 x12 =84
3 4

4y + 3y =284
Ty =84

84
.-v =

=1

The solution of the equation ] is 12.

Quick Review:

Addition f7% Sum #F

Subtraction JEjE Difference =

Multiplication 3f¢;£ | Product f&

Division &£ Quotient
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Answer

Exercise 3A
Level 1
1. -3 2,
4, 12 5,
7. 3 8.
10. 5 11.
13. 9 14.
16. 10 17.
19. -14 20.
22, 22 23,
Level 2
25 L 26.
5
28. 10 29.
31, -2 32.
3. 2 35.
2
37. -6 38.
Exercise 3B
Level 1
1. 1 2.
4. -4 5,
7. -2 8.
10. 1 11.
13. -5 14.
16, * 17.
2
19. 2 20.
22. 15 23,
Level 2
25. -2 26.

28

16

12.

15.
18.
21.
24,

27.

30.
33.

36.

12.

15.

18.

21.

24,

217.

-0.6

11

13

28. -1 29.
31. 2 32.
34, 1 35.
37. 0 38.
40. 3 41.
Exercise 3C
Level 1

1. 15 2.
4. 44 5.
7. 8 8.
10. 466 11.
Level 2

13. 42,43 14.
16. 16 17.
19. 180cm 20.
22.

23. yes
Exercise 3D
Level 1

1. B 2. A
5. C 6. C
Level 2

9. D 10. B
13. C 14.
Exercise 3E
1. (@ 60

2.

Eva: 2.5 m/s, Howard: 5 m/s

(@) win: 2 rounds, draw: 5 rounds

(b) yes

[op] ~low B~

48

37

90

8

32cm

yes

11. A

(b)

30.

33.

36.

39.

42,

12.

15.
18.
21.

12.

~| o

5¢cm

4.5

17

$320
$320
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(@ 20 (b) -2

(@ Tim: $300, Mary: $450
(b) $1040
Michelle

10.

n

(@) 3 S (b) 600
(@ 2cm (b) no
(@ 171

(b) x=50,y=33,z=88
36 km
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1. (@) hxh? (b) b(b®)

2. (@ mim) (b) a’xa’

3. (a) 2x’xx’ (b) (y*)3By?)

4. (a) -5t*x2t (b) (-4r")(=2r?)
5. (a) 2v¥x(-3v") (b) (-6k?*)(-4k®)
6. (a) a®:a (b) tti

7. (8 mtem’ (b) b?=b?

8. (a) 4x2+x* (b) 7r:‘92

0. @ K (b) —16d?+(-8d°)

~2k®

B 5155 - (10 - 16)

10. (@) a’xa’xa’ (b) yixy?xy®
11. (@) 2bx3b*xb’ () (=3x)x X° x 4X”
12. (a) a®+a+a’ (o) n’+n®=n®
13. (a) 18t" «t®+2t° (b) (-24m°)=(-2m)+m?
14. (@) a*=a’xa’ (b) k3xk*+k®
15. (a) a®+10a°x5a by X8
4x

10 8

16. (a) % (b) m;ﬁ
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(@)

(@)

()

(@)

()

(@)

b? x ab?
(c*d*)(cd?)
4h%k* xh’k?
7a’b x 3ab’
b' = a’h®
m*n® +m®n*

r6s7

4r3s*

4¢c%d°® +14c%d*

B FFIE - (25 - 26)

25. (@) m*n’ xm?xmn®

26. (a) a’bx2a’®®+a’b?

(b)
(b)
(b)

(b)

(b)

(b)

(b)

(b)

(b)

(b)

p'ax po’
(xy*)(6x"y®)
m°n® x (-3m*n?)
(-2r°s®)(-9r°s")

c’d?
ctd®

3p°q* +(-p’q’)
—8h7k? = (h°k*)

—9a’b* +(-3a°h®)

X3y’
(x°y®)(2x*)

—2h*%k?2 < h'2k® x (~12h°k®)



ZIET
¢ wrg
1 HEF OIS AR 6 EIE, -
mn

2 2
, 6xy, -3h°, —
d 8

a, 5b+1, =
c

2. EH YIS EIAR A RBRIREL -
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(@) x, 2x (b) -babc, bca

3
© xy. %y’ (d) 4’ =
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S5, L T MBOR | SEAIE

(@) |5x°+6x*+3x+2

(b) |[2x*+1-3x

X2
o) |-12+2-
(©) 5
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(@) |1-7a’b
(b) |-8m?-2mn*-6
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Ao G S REATT RS EHE MY ZIE - (6-7)

6. (a) 5x—6+3x* (b)

7. (@ 7x*-12x-8-x° (b)

R MHIEZ I - (8- 12)

8. (&) 5x+2x (b)
9. (a) 7y-9y (b)
10. (a) 2d+5d+3 (b)
11. (@) -5n-2m-+6m+4n (b)

12. () —4b+12-6b-10+11b (b)

FIFRAE - K IHI% 2 HARIE © (13 - 16)

13. (a) 2a+3 [a=0] (b)
14. (@) 4y*-3y [y=-3] (b)
15. (8) —-2a+3a*-7 [a=2] (b)
16. (a) ab-b> [a=4,b=3] (b)

& sep

B T2 TH5 - (17 - 18)
17. (a) 4ab+3cd+7ab+2cd (b)

18. (@) xz+2yz+3zy—-T72X (b)

{ERE MHIR LA - Wifg x BUERDYIFRREE -

19. (a) 8x°—1-3x*-6x> (b)

20. (@) x+7x>+5x*-3x*+8x° (b)

3y® +8y-6y°

~y+2-5y*—y°

4h? —h?
—3k? +10k?

—8e? —7e +16e°
2p® +8p-3p°+p

3y? —2y-5-6y—7y?

—5h+7 [b=1]

1
—k+-k®  [k=-2
5 [ ]

—4a*-6a+3 [a=-2]

a’—4a’b+b*> [a=-1,b=-1]

7pq—3rs—2pg—>5rs

—3a’b-7ab? +10ba® —5b%a

(19 — 20)
5x% +2x —6x° + 7x

14 -12x* —4x* —11-5x*
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21.
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23.

24,

25.

26.

27.

28.

29.

(@ 3y*+2y-6y+10y° (b) —2y*+7y®+5y*-10y*

(@) 3y*-2y*+12-6y° +4y? (b) 6y*+2y*—-8y*—-8y*-5y*

ST BRI NHI S - B4 3xy® + 2%y —6y°x* —10y*
(@) %y BYFAEHEF -
(b) F% x HIPEFEHEF -

EZELIAR, —4AxY? —xy* + TxXPy —2xy* + x°y° o
(@) FMEfEZZIER - WHE x AR IR REZE -
(b) KezZrE=HrIRE -

K2 TE h? +%h—1 RSB I -

_1 _
(@) h'E (b) h=-2

KEIEA - Xy +3xy -2y 1E FFIEERHHIE -
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o PR
1. (a)
2. (a)
3. (@)
4. (a)
5. (a)
6. (a)
7. (a)
8. (a)
9. (a)
10.

11.

(5p+2)+(3p-2)

(3h —K) + (h— 2K)

(2x + By) + (~2y + 3X)
(-29° +4) + (q° - 5)

(6% — 2v) + (7v + V)
—@m? + ) + (m? — 4n?)
(a—3)+(2a—7h +6)
(h—3k+ 1) + (2h — 3k + 2)

(5k* — 2k + 6) + (K* + 4k — 8)

(b)
(b)
(b)
(b)
(b)
(b)
(b)
(b)
(b)

(3x — 4) — (4x + 1)

(7a + 2b) — (4a — 3b)

(~s — 8t) — (3t — 55)

(7y* +2) - (6y° - 3)

(5¢% - 3c) — (—2¢ + 4c?)
—(4¢ +2y") = (5 +y)
(3s—t+4)— (25— 3t)
(m—6n—4)— (2m + 9n —3)

(3v* —5v—2) — (V* — 6V + 5)

B YIS Wi x AR IRTREE -

()

(3 + 5% + X2) + (3% + 7X)

(b)
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(@) (=7y+4y*—6)+ (5y° + 9 + 10y)
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13.

(@)

(@)

3X+4y
+) 5x—y

2a+3b+5
+) 4a- b-1

(b)

(b)

(b)

(8y — 9y° + 5) — (-2y* - 6y° + 5y)

—-5x-2y
-)  3x-y
h? + 4k*?
-) 2h*-3k*+1
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17.

18.

19.

20.
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23.

(@ 6m? + 2mn + 4n? (b) —2x2 4 4xy
+) 3mn —5n° -)  3x*-5xy-2y*
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(@) (a%+ab) + (b?—ab-—a?) (b) (hk — k%) — (~k? + hk — h?)

@) (xy—x2+2y?) + (2 - 6yz — y?) (b) (-a’ + 8ab — 6ab®) — (7ba + b%a + b?)
(@ (p+r)+(a-2r)+(p-3a) (b) (a+5b)-(2c-b)+(a-c)

(a) (a’—4a)+ (2a”+6)—(3a—1) (b) (5m®—3m)— (8 - 3m) — (4m*—7)

{ERE A W% a FIRFERERRSIFRREZE -
(a) (-a’+ 3ab)— (ab—4a*+b?)

(b) (a°+3a) - (2a° — 4a) + (—4a* + 2a%)

BRI FIE W% b (IARERRSIFRREE -
(@) (ab®+a’h —b®) + (—2ab? - 3b%)

(b) (2b—b?) - (2b°+4) - (b - 6)
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fFEd > ~ADE =130° &
/BAC=75°-3k ~ADC -
A. 50° 4 D
B. 55°
C. 60°
D 65° B G

75° 130°

14.

15.

fEfEH - FBC Z—RE&R - T
Wy TEMEE ?

A

B.
C.
D

/BCD = 40° g
ZABF =140°  A—— E
FC// ED
HAEIR g D
HAE R

A 1R

BRIp-all

fEE S EH Srpl8E AB A1 CD AHAH
F Al G35 a=b> NHIMEEL R IEHE ?

A

OO

m

n
b
n

3 3 T 9
1




Exercise 11A
Level 1

1. 50°

3. 46

5. 100°

7. 285

9. 255°

11. 45

13. 52°

15. 45

17. 60°

19. no
Level 2

20. 22

22. s=38,r=9¢
24. 26

26. 50°

27. (a) 54
28. (a) 25°
29. (a) 225
30. 60

Exercise 11B

Level 1
115°
105°

36°
215°

© N g w =

11. x=75,y=105
13. x=130,y =50’

15. x=32°,y=26

d=34", e=146"

o o A~ DN

12.
14.
16.
18.

21.

25.

(b)
(b)
(b)
3L

© o A~ DN

12.
14.

Answers

116°
36
62°
144°
258°
78
165°
65
83"

47
x=52"y=38
38°

yes
yes
yes

yes

63

b=72",¢c=72

45°
120°
X=62°,y=62"
X=96",y=284
X =38,y=38

Level 2
16. x=68",y=55
18. x=47,y=170°
20. x=73,y=107
22. x=32°,y=106
24, 111°
26. 136

Exercise 11C

Level 1

© oo N o g ~ w b PF

 $EAE

o

» [FIfiAHE
» [FIfiAHE
 $EAEE
& sEAEE

o

I /I g0 f0 A0 A0 M @0

17.
19.
21.
23.
25.

217.

AB /I CD - [FI55 N A L

BD // CE - $ifiH%E

x =107°y =50’
Xx=74,y=61

x=52"y =60

Xx=46",y =88

120°

30°

 [FEMiAHE (SRES A A )
 FISFNAER (SEAHEFREAHEE)

& SEAHE (SRESE N A L)

Level 2

10.

1. 2 FEENAEHE
12. (a) 104°

13. (a) 10°

14. 2 [FEfrAEE
15. 72 [FE5NALE

Exercise 11D

Level 1
1. C 2. C 3.
5. D 6. A 7.
Level 2
9. B 10. A 11,

13.

B 14. D 15

(b)
(b)

SR
SR

g
g

12. B



